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Difference Between Weight of 3 Boxes
There are three different boxes A,B and C. Difference betweenweights of A and B is 3 kgs. And between B and C is 5 kgs. Then whatis the maximum sum of the differences of all possible combinationswhen two 

Latest Answer: Answer is 10 ...
Read Answers (2) | Asked by : johnumman
Answer Question     Subscribe 



A cube of 12 mm is painted on all its side. If it is made up of small cubes of size 3mm. If the big
A cube of 12 mm is painted on all its side. If it is made up of small cubes of size 3mm. If the big cube is splitted into those small cubes, the number of cubes that remain unpainted is?
Read Answers (5) | Asked by : shafreenz
Answer Question     Subscribe 



Stress Test
Can stress testing be done manually? If yes then how will you perform Stress Testing of a web based appliaction manually? 

Latest Answer: When we test an application by give stress to it. It is usually done with hardware as we can take an example, suppose 20 task run simultaniusly on a system with 1 GB RAM, then to reduce the RAM to 512 MB then try to run 20 task simultaneouly  ...
Read Answers (1) | Asked by : rkrobindro
Answer Question     Subscribe 



Venn diagram
In town of 500 people, 285 read Hindu and 212 read Indian express and 127read Times of India 20 read hindu and times of India and 29 read hindu and Indian express and 35 read times of India and Indian 

Latest Answer: Ans is 356 people read only one news paper and 10 will read all the three news papers. ...
Read Answers (4) | Asked by : balajicse
Answer Question     Subscribe 



Binary Numbers (5 Questions)In a certain code, the symbol for 0 (zero) is. * and that for 1 is $. The
Binary Numbers (5 Questions)In a certain code, the symbol for 0 (zero) is. * and that for 1 is $. The numb.:rs greater than 1 are to be written only by using the two symbols given above. The value of the symbol for 1 doubles itself every time it shifts one place to the left.(For example, 4 is written as $**; and; 3 is written as $$)(6) 260 can be represented as:A) $****$**B) $$*$$$$$C) $$*$$$$**D) $*****$**(7) 60 / 17 can also be represented as:A) $$$*$*** / $$**$$B) $$$***** / $$**$$C) $*$$*$**
Read Answers (4) | Asked by : maity04108
Answer Question     Subscribe 



Four Members A,B,C,D are playing a game .A person losing a game should double the amount of others .B,C,D
Four Members A,B,C,D are playing a game .A person losing a game should double the amount of others .B,C,D are losing in order after three games .The amount after 3 games are A&B having 40,D is having 16&C 80. Each questions carry one mark:a) who started with small amount of money? b)who started with greatest amount of money? c)what amount did B have? 
Read Answers (10) | Asked by : VARALAKSHMI

Answer Question     Subscribe 



Three men A, B, C plays Cards. If one loses the game he have to give Rs.3. If he wins the game he will
Three men A, B, C plays Cards. If one loses the game he have to give Rs.3. If he wins the game he will gain Rs.6. If A has won 3 Games, B loses Rs.3, C wins Rs.12.What is the total no. of games played?
Read Answers (28) | Asked by : VARALAKSHMI

Answer Question     Subscribe 



In a 100m race X beats Y by 10m,Y beats Z by 10m.by how much does X beat Z in a 100m race? 
Latest Answer: 19mexplanation:when x completes 100m y does 90msimilarly for y=100, z=90thus for y=90, we have z=81(for every 10m of y,  z covers 9m)thus x:y:z=100:90:81x beats z by 100-81=19m ...
Read Answers (18) | Asked by : sweety

Answer Question     Subscribe 



In an island there r tribals who speak lang of almost 4 words,lang cosists of 4 alphabets.how many words
In an island there r tribals who speak lang of almost 4 words,lang cosists of 4 alphabets.how many words can be formed in that language
Read Answers (25) | Asked by : danie

Answer Question     Subscribe 



(i) What will come after single,double,trible then______?(ii) What will come after twice,thrice & then_________?(iii)What
(i) What will come after single,double,trible then______?(ii) What will come after twice,thrice & then_________?(iii)What will come after twins, for 3 & for 4_____&____?(iv)How Will We Tackle Interview/Maths/Apptitude Etc.,Test Any Good/ Simple Reference Book Name___________?
Read Answers (9) | Asked by : Patel Shahid Ahmed

Answer Question     Subscribe 
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